# A New Identity Relating Mock Theta Functions with Distinct Orders 

Yukari SANADA<br>Tsuda College<br>(Communicated by K. Ota)

## 1. Introduction

S. Ramanujan listed 17 mock theta functions of orders 3,5 and 7 in his last letter to G. H. Hardy. A mock theta function is a function $f(q)$ for $|q|<1$ satisfying the following two conditions:
(i) For every root of unity $\zeta$, there is a theta function $\theta_{\zeta}(q)$ such that the difference $f(q)-\theta_{\zeta}(q)$ is bounded as $q \rightarrow \zeta$ radially.
(ii) There is no single theta function which works as in (i) for all $\zeta$ : i.e., for every theta function $\theta(q)$ there is some root of unity $\zeta$ for which $f(q)-\theta(q)$ is unbounded as $q \rightarrow \zeta$ radially.
G. N. Watson found in [5] three more mock theta functions of order 3. Ramanujan gave more mock theta functions in his lost notebook. B. Gordon and R. J. McIntosh also found in [4] eight mock theta functions of order 8. A formal definition of order is unknown until now. It is, however, known that mock theta functions with the same order are related to each other except for order 7. In this paper we show an interesting new relation between mock theta functions with distinct orders in Theorem 1, and we further prove two new series representations of some 8th order mock theta functions in Theorem 2.

In section 2, we give the relation mentioned above in Theorem 1, which connects two mock theta functions with distinct orders, 3rd and 6th, to a generalized Lambert series.

In section 3, we introduce a function $F(q, t)$ defined by G. E. Andrews in [1]. There he consider three specializations of $t$; here we add to them the fourth specialization of $t$, and we will further show that there are relations, called half-shift in [4], among these four functions (see Definition 4 and below). We next give three examples of the function $F(q, t)$ in Propositions 1-3. The last one is particularly interesting, because we again see two mock theta functions appeared in section 2. Finally we give new series representations of two 8th order mock theta functions.

We close this section by introducing some notation.

[^0]DEFINITION 1. Suppose $q$ and $a$ are complex numbers and $n$ is an integer. For $n \geq 1$, we define

$$
(a)_{n}=(a ; q)_{n}=\prod_{i=0}^{n-1}\left(1-a q^{i}\right)
$$

for $n=0$,

$$
(a)_{0}=1
$$

and for $n<0$, when $a$ does not equal $q, q^{2}, \cdots, q^{-n}$,

$$
(a)_{n}=(a ; q)_{n}=\prod_{i=1}^{-n}\left(1-a q^{-i}\right)^{-1}
$$

If $|q|<1$, we define

$$
(a)_{\infty}=(a ; q)_{\infty}=\prod_{i=0}^{\infty}\left(1-a q^{i}\right)
$$

and more generally,

$$
\left(x_{1}, \cdots, x_{r} ; q\right)_{\infty}=\left(x_{1}\right)_{\infty} \cdots\left(x_{r}\right)_{\infty}
$$

Throughout this paper, $q$ will denote a fixed complex number of absolute value less than 1. Then, for all integer $n$ we have

$$
\begin{equation*}
(x ; q)_{n}=\frac{(x ; q)_{\infty}}{\left(x q^{n} ; q\right)_{\infty}} \tag{1.1}
\end{equation*}
$$

and for other real $n$, we take this as the definition of $(x ; q)_{n}$.
We introduce some mock theta functions which will be used in this paper.
DEFINITION 2. 3rd order mock theta functions [5]:

$$
\begin{aligned}
& \chi(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}}{(-\omega q)_{n}\left(-\omega^{2} q\right)_{n}}, \\
& \rho(q)=\sum_{n=0}^{\infty} \frac{q^{2 n(n+1)}}{\left(\omega q ; q^{2}\right)_{n+1}\left(\omega^{2} q ; q^{2}\right)_{n+1}},
\end{aligned}
$$

where, and throughout this paper, $\omega$ denotes a primitive cube root of 1 .
5th order mock theta functions [1]:

$$
f_{0}(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}}{(-q)_{n}}
$$

$$
F_{1}(q)=\sum_{n=0}^{\infty} \frac{q^{2 n(n+1)}}{\left(q ; q^{2}\right)_{n+1}} .
$$

6th order mock theta function [2]:

$$
\gamma(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}(q)_{n}}{\left(q^{3} ; q^{3}\right)_{n}}=\sum_{n=0}^{\infty} \frac{q^{n^{2}}}{(\omega q)_{n}\left(\omega^{2} q\right)_{n}} .
$$

8th order mock theta functions [4]:

$$
\begin{aligned}
& S_{0}(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}\left(-q ; q^{2}\right)_{n}}{\left(-q^{2} ; q^{2}\right)_{n}} \\
& T_{1}(q)=\sum_{n=0}^{\infty} \frac{q^{n(n+1)}\left(-q^{2} ; q^{2}\right)_{n}}{\left(-q ; q^{2}\right)_{n+1}} \\
& U_{0}(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}\left(-q ; q^{2}\right)_{n}}{\left(-q^{4} ; q^{4}\right)_{n}} \\
& U_{1}(q)=\sum_{n=0}^{\infty} \frac{q^{(n+1)^{2}}\left(-q ; q^{2}\right)_{n}}{\left(-q^{2} ; q^{4}\right)_{n+1}}
\end{aligned}
$$

DEFINITION 3. The basic hypergeometric function:

$$
{ }_{m} \phi_{n}\left(\begin{array}{ccccc}
a_{1}, & \cdots & a_{m} ; & q ; & z \\
b_{1}, & \cdots & b_{n} & &
\end{array}\right):=\sum_{j=0}^{\infty} \frac{\left(a_{1}\right)_{j} \cdots\left(a_{m}\right)_{j} z^{j}}{(q)_{j}\left(b_{1}\right)_{j} \cdots\left(b_{n}\right)_{j}}
$$

where $|z|<1$ and $b_{i} \neq q^{-k}$ for any non-negative integer $k$.

## 2. Main result

Untill now, it is not known that mock theta functions with distinct orders are related to each other. Here we derive a new relation between 3rd order $\chi(q)$ and 6th order $\gamma(q)$.

Theorem 1.

$$
(q)_{\infty}\{3 \chi(q)-\gamma(q)\}=6 \sum_{n=-\infty}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2}}{1+q^{2 n}+q^{4 n}}
$$

Proof. We begin with the Watson-Whipple transformation[3, Ch16]:
${ }_{8} \phi_{7}\left(\begin{array}{cccccccc}a, & q \sqrt{a}, & -q \sqrt{a}, & b, & c, & d, & e, & f ; \\ \sqrt{a}, & -\sqrt{a}, & a q / b, & a q / c, & a q / d, & a q / e, & a q / f & a^{2} q^{2} / b c d e f \\ \end{array}\right)$

$$
=\frac{(a q)_{\infty}(a q / d e)_{\infty}(a q / d f)_{\infty}(a q / e f)_{\infty}}{(a q / d)_{\infty}(a q / e)_{\infty}(a q / f)_{\infty}(a q / d e f)_{\infty}} 4 \phi_{3}\left(\begin{array}{cccc}
a q / b c, & d, & e, & f ; \\
a q / b, & a q / c, & d e f / a, & q
\end{array}\right),
$$

provided that each of $d, e$ or $f$ is of the form $q^{-N}$, where $N$ is a positive integer.
Now

$$
\frac{(q \sqrt{a})_{n}(-q \sqrt{a})_{n}}{(\sqrt{a})_{n}(-\sqrt{a})_{n}}=\frac{1-\sqrt{a} q^{n}}{1-\sqrt{a}} \cdot \frac{1+\sqrt{a} q^{n}}{1+\sqrt{a}}=\frac{1-a q^{2 n}}{1-a} .
$$

Also, when $x$ tends to $\infty$,

$$
\begin{aligned}
(x)_{n} & =(1-x)(1-x q) \cdots\left(1-x q^{n-1}\right), \\
& =(-x)^{n}\left(-\frac{1}{x}+1\right)\left(-\frac{1}{x}+q\right) \cdots\left(-\frac{1}{x}+q^{n-1}\right), \\
& \sim(-x)^{n} q^{n(n-1) / 2} .
\end{aligned}
$$

Let $a \rightarrow 1, d \rightarrow \infty, e \rightarrow \infty, f \rightarrow \infty, b=e^{i \theta}$ and $c=e^{-i \theta}$; we find that

$$
1+\sum_{n=1}^{\infty} \frac{(-1)^{n}\left(1+q^{n}\right)(2-2 \cos \theta) q^{n(3 n+1) / 2}}{1-2 q^{n} \cos \theta+q^{2 n}}=(q)_{\infty} \sum_{n=0}^{\infty} \frac{q^{n^{2}}}{\left(q e^{i \theta}\right)_{n}\left(q e^{-i \theta}\right)_{n}}
$$

In this relation, G. N. Watson in [5] took $\theta=\pi / 3$ to get

$$
(q)_{\infty} \chi(q)=1+\sum_{n=1}^{\infty} \frac{(-1)^{n}\left(1+q^{n}\right) q^{n(3 n+1) / 2}}{1-q^{n}+q^{2 n}} .
$$

Similarly, we take $\theta=2 \pi / 3$ to get

$$
(q)_{\infty} \gamma(q)=1+3 \sum_{n=1}^{\infty} \frac{(-1)^{n}\left(1+q^{n}\right) q^{n(3 n+1) / 2}}{1+q^{n}+q^{2 n}} .
$$

Hence,

$$
\begin{aligned}
(q)_{\infty}\{3 \chi(q)-\gamma(q)\}= & 3+3 \sum_{n=1}^{\infty} \frac{(-1)^{n}\left(1+q^{n}\right) q^{n(3 n+1) / 2}}{1-q^{n}+q^{2 n}} \\
& -1-3 \sum_{n=1}^{\infty} \frac{(-1)^{n}\left(1+q^{n}\right) q^{n(3 n+1) / 2}}{1+q^{n}+q^{2 n}} \\
= & 2+3 \sum_{n=1}^{\infty}(-1)^{n}\left(1+q^{n}\right) q^{n(3 n+1) / 2}\left(\frac{1}{1-q^{n}+q^{2 n}}-\frac{1}{1+q^{n}+q^{2 n}}\right) \\
= & 2+6 \sum_{n=1}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2}\left(1+q^{n}\right)}{1+q^{2 n}+q^{4 n}}
\end{aligned}
$$

$$
\begin{aligned}
& =2+6\left(\sum_{n=1}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2}}{1+q^{2 n}+q^{4 n}}+\sum_{n=1}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2+n}}{1+q^{2 n}+q^{4 n}}\right) \\
& =2+6\left(\sum_{n=1}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2}}{1+q^{2 n}+q^{4 n}}+\sum_{n=-\infty}^{-1} \frac{(-1)^{n} q^{3 n(n-1) / 2-n}}{1+q^{-2 n}+q^{-4 n}}\right) \\
& =2+6\left(\sum_{n=1}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2}}{1+q^{2 n}+q^{4 n}}+\sum_{n=-\infty}^{-1} \frac{(-1)^{n} q^{3 n(n-1) / 2-n+4 n}}{1+q^{2 n}+q^{4 n}}\right) \\
& =6 \sum_{n=-\infty}^{\infty} \frac{(-1)^{n} q^{3 n(n+1) / 2}}{1+q^{2 n}+q^{4 n}} .
\end{aligned}
$$

This completes the proof of Theorem 1.
3. Another relation between $\chi(q)$ and $\gamma(q)$
G. E. Andrews defined the following function $F(q, t)$ in [1], while the notation here is slightly changed from his original one.

Definition 4. Suppose $a \in \mathbf{N}, z, t, a_{l}, b_{m} \in \mathbf{C}(1 \leq l \leq s, 1 \leq m \leq j),|z|<1$, then

$$
\begin{aligned}
F(q, t) & :=F\left(\begin{array}{cccccc}
a_{1}, & \cdots & a_{s} ; & a, & z ; & q, \\
b_{1}, & \cdots & b_{j}
\end{array}\right) \\
& :=\sum_{n=0}^{\infty} \frac{\left(a_{1} t\right)_{n} \cdots\left(a_{s} t\right)_{n} z^{n} t^{a n} q^{a n(n-1) / 2}}{(t)_{n+1}\left(b_{1} t\right)_{n} \cdots\left(b_{j} t\right)_{n}}
\end{aligned}
$$

There he considered three functions of $q$ :
(1) $\quad H_{1}(q):=\lim _{t \rightarrow-1+0}(1-t) F(q, t)=\sum_{n=0}^{\infty} \frac{\left(-a_{1}\right)_{n} \cdots\left(-a_{s}\right)_{n}(-1)^{a n} z^{n} q^{a n(n-1) / 2}}{(-q)_{n}\left(-b_{1}\right)_{n} \cdots\left(-b_{j}\right)_{n}}$,
(2) $\quad H_{2}(q):=F\left(q, q^{1 / 2}\right)=\sum_{n=0}^{\infty} \frac{\left(a_{1} q^{1 / 2}\right)_{n} \cdots\left(a_{s} q^{1 / 2}\right)_{n} z^{n} q^{a n^{2} / 2}}{\left(q^{1 / 2}\right)_{n+1}\left(b_{1} q^{1 / 2}\right)_{n} \cdots\left(b_{j} q^{1 / 2}\right)_{n}}$
and

$$
\begin{equation*}
H_{3}(q):=\lim _{t \rightarrow 1-0}(1-t) F(q, t)=\sum_{n=0}^{\infty} \frac{\left(a_{1}\right)_{n} \cdots\left(a_{s}\right)_{n} z^{n} q^{a n(n-1) / 2}}{(q)_{n}\left(b_{1}\right)_{n} \cdots\left(b_{j}\right)_{n}} \tag{3}
\end{equation*}
$$

Now we define the function:
(4) $\quad H_{4}(q):=F\left(q,-q^{1 / 2}\right)=\sum_{n=0}^{\infty} \frac{\left(-a_{1} q^{1 / 2}\right)_{n} \cdots\left(-a_{s} q^{1 / 2}\right)_{n}(-1)^{a n} z^{n} q^{a n^{2} / 2}}{\left(-q^{1 / 2}\right)_{n+1}\left(-b_{1} q^{1 / 2}\right)_{n} \cdots\left(-b_{j} q^{1 / 2}\right)_{n}}$.

We will observe the relation among these four functions. Consider the two series

$$
\begin{aligned}
\sum_{n=0}^{\infty} a_{n} & :=\sum_{n=0}^{\infty} \frac{\left(-q^{n+1},-b_{1} q^{n}, \cdots,-b_{j} q^{n} ; q\right)_{\infty}}{\left(-a_{1} q^{n}, \cdots,-a_{s} q^{n} ; q\right)_{\infty}}(-1)^{a n} z^{n} q^{a n(n-1) / 2} \\
& =\frac{\left(-q,-b_{1}, \cdots,-b_{j} ; q\right)_{\infty}}{\left(-a_{1}, \cdots,-a_{s} ; q\right)_{\infty}} H_{1}(q)
\end{aligned}
$$

and

$$
\begin{aligned}
\sum_{n=0}^{\infty} b_{n} & :=\sum_{n=0}^{\infty} \frac{\left(-q^{n+\frac{1}{2}+1},-b_{1} q^{n+\frac{1}{2}}, \cdots,-b_{j} q^{n+\frac{1}{2}} ; q\right)_{\infty}}{\left(-a_{1} q^{n+\frac{1}{2}}, \cdots,-a_{s} q^{n+\frac{1}{2}} ; q\right)_{\infty}}(-1)^{a\left(n+\frac{1}{2}\right)} z^{n+\frac{1}{2}} q^{a\left(n+\frac{1}{2}\right)\left(n-\frac{1}{2}\right) / 2} \\
& =(-1)^{\frac{a}{2}} z^{\frac{1}{2}} q^{-\frac{a}{8}} \frac{\left(-q^{1 / 2},-b_{1} q^{1 / 2}, \cdots,-b_{j} q^{1 / 2} ; q\right)_{\infty}}{\left(-a_{1} q^{1 / 2}, \cdots,-a_{s} q^{1 / 2} ; q\right)_{\infty}} H_{4}(q)
\end{aligned}
$$

In these formulas, we obtain last equalities by using (1.1). These two series are related by a shift $b_{n}=a_{n+\frac{1}{2}}$. That is to say, the function $H_{4}(q)$ is obtained from the function $H_{1}(q)$ when we replace $n$ by $n+\frac{1}{2}$ in the sum of $a_{n}$. We say that $H_{4}(q)$ is obtained from $H_{1}(q)$ by the half-shift. Similarly $H_{2}(q)$ can be obtained from $H_{3}(q)$ by the half-shift.

Now we give three typical examples of $F(q, t)$.
Proposition 1 (G. E. Andrews [1]). Let

$$
M \vartheta_{5,1}(q, t):=F(; \quad 2, q ; q, t)=\frac{1}{1-t} \sum_{n=0}^{\infty} \frac{q^{n^{2}} t^{2 n}}{(t q)_{n}} .
$$

Then we have

$$
\begin{aligned}
& \text { (1) } \lim _{t \rightarrow-1+0}(1-t) M \vartheta_{5,1}(q, t)=f_{0}(q), \\
& \text { (2) } \\
& M \vartheta_{5,1}\left(q, q^{1 / 2}\right)=F_{1}\left(q^{1 / 2}\right), \\
& \text { (3) } \\
& \lim _{t \rightarrow 1}(1-t) M \vartheta_{5,1}(q, t)=G(q), \\
& \text { (4) } \\
& M \vartheta_{5,1}\left(q,-q^{1 / 2}\right)=F_{1}\left(-q^{1 / 2}\right),
\end{aligned}
$$

where

$$
G(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}}{(q)_{n}}=\frac{1}{\left(q ; q^{5}\right)_{\infty}\left(q^{4} ; q^{5}\right)_{\infty}}
$$

Proposition 2. Let

$$
M \vartheta_{8,1}\left(q^{2}, t\right):=F\left(-q ; \quad 1, q ; q^{2}, t\right)=\frac{1}{1-t} \sum_{n=0}^{\infty} \frac{\left(-t q ; q^{2}\right)_{n} q^{n^{2}} t^{n}}{\left(t q^{2} ; q^{2}\right)_{n}} .
$$

Then we have
(1) $\lim _{t \rightarrow-1+0}(1-t) M \vartheta_{8,1}\left(q^{2}, t\right)=S_{0}(-q)$,
(2) $\quad M \vartheta_{8,1}\left(q^{2}, q\right)=T_{1}(-q)$,
(3) $\lim _{t \rightarrow 1-0}(1-t) M \vartheta_{8,1}\left(q^{2}, t\right)=A(q)$,
(4) $\quad M \vartheta_{8,1}\left(q^{2},-q\right)=\sum_{n=0}^{\infty} \frac{\left(q^{2} ; q^{2}\right)_{n}(-1)^{n} q^{n^{2}+n}}{\left(-q ; q^{2}\right)_{n+1}}$,
where

$$
A(q)=\sum_{n=0}^{\infty} \frac{q^{n^{2}}\left(-q ; q^{2}\right)_{n}}{\left(q^{2} ; q^{2}\right)_{n}}=\frac{1}{\left(q ; q^{8}\right)_{\infty}\left(q^{4} ; q^{8}\right)_{\infty}\left(q^{7} ; q^{8}\right)_{\infty}}
$$

Note: This proposition is similar to Proposition 1, but it is still unknown whether $M \vartheta_{8,1}\left(q^{2},-q\right)$ is a mock theta function.

The following Proposition 3 is particularly interesting, because all four specializations are mock theta functions and only one of them has a distinct order from others.

Proposition 3. Let

$$
M \vartheta_{3,3}(q, t):=F\left(\begin{array}{ccc}
q & & ; 2, q ; q, t \\
\omega q, & \omega^{2} q
\end{array}\right)=\frac{1}{1-t} \sum_{n=0}^{\infty} \frac{q^{n^{2}} t^{2 n}}{(\omega q t)_{n}\left(\omega^{2} q t\right)_{n}} .
$$

Then we have
(1) $\lim _{t \rightarrow-1+0}(1-t) M \vartheta_{3,3}(q, t)=\chi(q)$,
(2) $\quad M \vartheta_{3,3}\left(q, q^{1 / 2}\right)=\frac{1+q^{1 / 2}+q}{1-q^{1 / 2}} \rho\left(q^{1 / 2}\right)$,
(3) $\lim _{t \rightarrow 1-0}(1-t) M \vartheta_{3,3}(q, t)=\gamma(q)$,
(4) $\quad M \vartheta_{3,3}\left(q,-q^{1 / 2}\right)=\frac{1-q^{1 / 2}+q}{1+q^{1 / 2}} \rho\left(-q^{1 / 2}\right)$.

Table I lists the functions in Proposition 1, 2 and 3. Here we attach the order to each mock theta function.

Table I

|  | $(1)$ | $(2)$ | $(3)$ | $(4)$ |
| :--- | :---: | :---: | :---: | :---: |
| $M \vartheta_{5,1}(q, t)$ | $f_{0}(q) ; 5 t h$ | $F_{1}\left(q^{1 / 2}\right) ; 5 t h$ | $G(q)$ | $F_{1}\left(-q^{1 / 2}\right) ; 5 t h$ |
| $M \vartheta_{8.1}\left(q^{2}, t\right)$ | $S_{0}(-q) ; 8 t h$ | $T_{1}(-q) ; 8 t h$ | $A(q)$ | $?$ |
| $M \vartheta_{3,3}(q, t)$ | $\chi(q) ; 3 r d$ | $\rho\left(q^{1 / 2}\right) ; 3 r d$ | $\gamma(q) ; 6 t h$ | $\rho\left(-q^{1 / 2}\right) ; 3 r d$ |

NOTE: In the bottom row, we see again the mock theta functions $\chi(q)$ and $\gamma(q)$ in Theorem 1.

As an appendix, we give a new representation for 8th order mock theta functions $U_{0}(q)$ and $U_{1}(q)$, by using a transformation of the basic hypergeometric function.

## Theorem 2.

$$
\begin{align*}
& U_{0}(q)=\frac{\left(i q ; q^{2}\right)_{\infty}}{\left(-i q^{2} ; q^{2}\right)_{\infty}} \sum_{n=0}^{\infty} \frac{\left(-q ; q^{2}\right)_{n}\left(i ; q^{2}\right)_{n}}{\left(q^{2} ; q^{2}\right)_{n}\left(i q^{2} ; q^{2}\right)_{n}}(i q)^{n}  \tag{4.1}\\
& U_{1}(q)=q \sum_{n=0}^{\infty} \frac{\left(-i q^{2} ; q^{2}\right)_{n}(-i q)^{n}}{\left(i q ; q^{2}\right)_{n+1}} . \tag{4.2}
\end{align*}
$$

Proof. We use the transformation [3, Ch16]:

$$
\left.\begin{array}{rl}
{ }_{3} \phi_{2}\left(\begin{array}{llll}
a, & b, & c ; & q ; \\
d, & e
\end{array}\right. \\
\quad=\frac{(e / a)_{\infty}(d e / b c)_{\infty}}{(e)_{\infty}(d e / a b c)_{\infty}} 3 \phi_{2}\left(\begin{array}{llll}
a, & d / b, & d / c ; & q ; \\
d, & d e / b c
\end{array}\right. & e / a
\end{array}\right), ~ l
$$

where $|d e / a b c|<1$ and $|e / a|<1$.
Replace $q$ by $q^{2}$ in this equation and then let $c$ tend to $\infty$. Then we have

$$
\sum_{n=0}^{\infty} \frac{\left(a ; q^{2}\right)_{n}\left(b ; q^{2}\right)_{n}(-1)^{n} q^{n^{2}-n}}{\left(q^{2} ; q^{2}\right)_{n}\left(d ; q^{2}\right)_{n}\left(e ; q^{2}\right)_{n}}\left(\frac{d e}{a b}\right)^{n}=\frac{\left(e / a ; q^{2}\right)_{\infty}}{\left(e ; q^{2}\right)_{\infty}} \sum_{n=0}^{\infty} \frac{\left(a ; q^{2}\right)_{n}\left(d / b ; q^{2}\right)_{n}}{\left(q^{2} ; q^{2}\right)_{n}\left(d ; q^{2}\right)_{n}}\left(\frac{e}{a}\right)^{n}
$$

Now take $a=-q, b=q^{2}, d=i q^{2}, e=-i q^{2}$. This gives (4.1). Similarly take $a=$ $q^{2}, b=-q, d=i q^{3}, e=-i q^{3}$ and multiply the resulting identity by $q /\left(1+q^{2}\right)$. This gives (4.2).

Acknowledgments. The author would like to thank Professor M. Ohtsuki for his kind help.

## References

[1] G. E. Andrews, Combinatorics and Ramanujan's "lost" notebook, Surveys in Combinatorics, I. Anderson, editor, London Math. Soc. Lecture Notes Series, no. 103, Cambridge Univ. Press (1985), 1-23.
[2] G. E. Andrews and D. Hickerson, Ramanujan's "lost" notebook.VII: The sixth order mock theta functions, Adv. Math. 89 (1991), 60-105.
[3] B. C. Berndt, Ramanujan's Notebooks Part III, Springer-Verlag, New York (1991).
[4] B. Gordon and R. J. McIntosh, Some eighth order mock theta functions, J. London Math. Soc.(2) 62 (2000), 321-335.
[ 5 ] G. N. Watson, The final problem: An account of the mock theta functions, J. London Math. Soc. 11 (1936), 55-80.

Present Address:
Department of Mathematics, Tsuda College,
Tsuda-machi, Kodaira-shi, Tokyo, 187-8577 Japan.
e-mail: sanada@tsuda.ac.jp


[^0]:    Received November 8, 2004; revised February 24, 2005

